
1

INSTALLATION INSTRUCTIONS

Stay Chain Kit (TK95052 & TK95053)

Kit Includes
Letter Description Qty

A 19 Links of 1/4" Grade 70 Chain 2

B Chain Connection Plate 2

C 5/16" x 1" Flange Bolt 4

D 5/16" Flange Nut 4

Installation Instructions
1. Put the first link of one chain (A) through the slot on 

one of the TKV 20’s pre-installed connection plates. 
Slide the second link up into the longer slot on the 
connection plate and bolt the first link as shown using 
5/16" x 1" flange bolt (C) and 5/16" flange nut (D). Torque 
to 15 +/-1 ft. lbs. Repeat on the other connection plate. 

2. At the rear of the tractor, remove the two bolts from 
the existing metal plate. Remove the metal plate and 
install the Chain Connection Plate (B) as shown,  
using the 5/16" Flange Bolts and 5/16" Flange Nuts. 
Repeat on the other side of the tractor.

3. Connect the TKV 20 to the tractor and lift the 3-point arms.

Longer 
slot

The Stay Chain Kit stabilizes a TKV 20 while 
operating on inclines and keeps the PTO shaft 
level while the mower deck is lowered. This kit 
connects a TKV 20 to Kubota BX2380 and BX2680 
Sub-Compact Tractors.

B

A

B

TK95052 shown

TK95052 shown
GREY
PMS 427
CMYK C19   M15   Y16   K0
RGB R204   G204   B204
Hex #CCCCCC
Threa Light Ash 

BLUE
PMS 647
CMYK C91   M60   Y4   K0
RGB R20   G103   B172
Hex #1268AC
Thread Farm Blue

ORANGE
PMS 715
CMYK C0   M69   Y98   K0
RGB R243   G113   B33
Hex #F37121
Thread Tennessee Orange

GREY
PMS 428
CMYK C27   M17   Y17   K0
RGB R195   G197   B200
Hex #c3c5c8
Thread Light Gray

BLUE
PMS 287
CMYK C100   M87   Y20   K10
RGB R32     G61    B124
Hex #203d7c
Thread Dark Royal

BLACK
PMS TBD
CMYK C0   M0  Y0   K100
RGB R0   G0   B0
Hex #000000
Thread Black

GOLD
PMS 3965
CMYK C1  M14   Y99   K0
RGB R254   G212   B2
Hex #�d402
Thread NFL Yellow

DARK BLUE

CMYK  C98 M74 Y24  K08
RGB  R14 G78 B129 
HEX#  0E4E81

PANTONE  301

THREAD     Empire

LIGHT BLUE

CMYK C56 M24 Y06  K00
RGB  R113 G164 B205 
HEX# 71A4CD

PANTONE 645

THREAD       Light Blue

MEDIUM BLUE

CMYK  C90 M59 Y04  K00
RGB  R18 G104 B172 
HEX# 1268AC

PANTONE  3015

THREAD     Farm Blue



2

TerraKing by Superior Tech, Inc.   
717-286-1444
sales@terraking.com
Form # TKMI-004B-08/18

Warranty
TerraKing’s products are guaranteed to be free from defects 
in material and/or workmanship and to perform as advertised 
when properly assembled, installed, used, and maintained 
in accordance with written instructions. Failure to adhere to 
this will void the warranty. TerraKing will not be responsible 
for labor, loss, or consequential damage of any kind or 
character caused by defective parts, or for charges  
incurred in the replacement or repair of defective parts. 
TerraKing reserves the right to request photos or return of 
damaged/defective parts. To submit a claim, please have 
your original purchase date and a copy of your receipt (if 
available).

Warranty Period
The TerraKing Stay Chain Kit is warranted for a period of 
1 (one) year after the purchase date for residential use, 
and 6 (six) months after the purchase date for commercial 
use. This product is warranted by TerraKing to the original 
purchaser/customer against defects in material and work-
manship under normal operating conditions.

4. Slide the Chain (A) through the Chain Connector Plate 
(B) mounted on the tractor. Be sure that the same 
amount of links are slid through on both sides.  
Typically, the second link of chain is positioned in  
the plate as shown. 
 
If the PTO shaft is not level when lowered, raise the 
3-point arms again and adjust the number of links 
through the slot as necessary. Extra links of chain can 
be cut off if desired.  

Second 
link

WARNING: Slowly lower the TKV 20 to prevent 
damage from occurring. Repeatedly dropping 
the TKV 20 too fast against the chains can 
result in damage to the Stay Chain Kit, Tractor 
and TKV 20. 

TK95052 shown

CAUTION: Operating PTO on an angle will cause 
excessive wear or damage.


